CSC165 Quiz 5, THURSDAY JUNE 23RD

Name: Student number:

Suppose P, @, R, and S are statements

1. Show that:
P=(Q@=(R=29),

...1s equivalent to
(PANQAR)=S.

SAMPLE SOLUTION:

P=(Q=(R=295)) PV (-QV (—RVS)) [transform = to — and V]
(~PV-QV-R)VS [associativity of V]
(PAQAR)VS [DeMorgan’s Law]

(PAQAR)= S [transform — and V to =].

t o

2. Show that:
(P=Q)=R)= S5,

...1s equivalent to
("PA-R)V(QA-R)VS.

SAMPLE SOLUTION:

(P=Q)=R)=S & -(-(-PVQ)VR)VS [transform = to — and V]
& ((PV@Q)A-R)VS [DeMorgan’s Law]
& ("PA-R)V(QA-R)VS [distributivity of A



